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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. Golden rice is rich in : 

(A) Vitamin D 

(B)  Vitamin A 

(C)  Vitamin B 

(D)  Vitamin C 

2. Flaur saur is the transgenic variety of : 

(A) Potato  

(B)  Tobacco  

(C)  Tomato  

(D)  Brinjal  

3. Male sterility in rape seed is transferred 

from : 

(A) Haemophilus influenzae 

(B)  Agrobacterium rhizogens  

(C)  Bacillus thuringiensis  

(D)  Bacillus amyloliquefaciens  

4. The crops engineered for glyphosate are 

resistant to : 

(A) Herbicides  

(B)  Bactericides  

(C)  Fungicides  

(D)  Insecticides  

5. GMOs stands for : 

(A) Generally Modified Organisms  

(B)  Genetically Modified Organisms   

(C)  Both (A) and (B) 

(D)  None of the above  

6. Simultaneous introduction of multiple 

genes into a genotype is called as : 

(A) Multiple gene introduction  

(B)  Gene pyramiding   

(C)  Gene upgradation 

(D)  All of the above  

7. Suitable temperature for incubation is : 

(A) 28°C 2   

(B)  45°C 2  

(C)  25°C 2  

(D)  60°C 2  

8. Tetracyclin is a : 

(A) Selectable marker  

(B)  Scorable marker  

(C)  Both (A) and (B) 

(D)  None of the above  
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9. Enzyme used in PCR : 

(A) Ligase  

(B)  Nuclease  

(C)  Ribonuclease  

(D)  Taq polymerase  

10. Callus is : 

(A) Unorganized mass of cells  

(B)  Organized mass of cells  

(C)  Organized mass of tissue  

(D)  All of the above  

11. The process of determining the  

order of nucleotides in DNA, is called  

as : 

(A) Genotyping  

(B)  DNA sequencing  

(C)  Phenotyping  

(D)  Gene pyramiding  

12. What is true about genomics ? 

(A) Gemomics is the  study of genomes 

or the complete set of genetic 

material of an organism.  

(B)  Genomics introduced by Tom 

Roderick.  

(C)  Genomics is the study of heredity.  

(D)  Both (A) and (B) 

13. Opines are : 

(A) Amino acids  

(B)  Lipids  

(C)  Proteins  

(D)  Nucleic acid  

14. PCR was invented by : 

(A) Kornberg 

(B)  Larkin  

(C)  Kary Mullis  

(D)  Nitch  
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15. The pH of nutrient medium suitable for 

cell growth is : 

(A) 5.5-5.8 

(B)  3.5-4.5 

(C)  7.5-8.5 

(D)  8.5-9.5 

16. Restriction endonuclease enzymes were 

discovered by : 

(A) W. Arber 

(B)  O. Smith  

(C)  Nathans  

(D)  All of the above  

17. Which type of restriction enzymes are 

generally used in gene cloning and 

restriction mapping ? 

(A) Type-II 

(B)  Type-I 

(C)  Type-III 

(D)  None of the above  

18. Restriction endonuclease is also known  

as : 

(A) Restriction enzyme  

(B)  Molecular knives 

(C)  Molecular scissors  

(D)  All of the above  

19. Which of the following chemicals is used 

for the weakening of the cell wall of  

bacteria ? 

(A) Isopropanol  

(B)  Lysozyme  

(C)  Restriction enzyme  

(D)  Ribonuclease  

20. Which enzyme degrades RNA in a 

solution ? 

(A) Proteinase K 

(B)  Deoxyribonuclease 

(C)  Ribonuclease 

(D)  SDS 
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21. Ultraviolet absorbance can be used to 

check : 

(A) Purity of DNA in a sample  

(B)  Quantity of DNA in a sample  

(C)  Both (A) and (B) 

(D)  None of the above  

22. Enzymes used for joining two DNA 

molecules are : 

(A) Nucleases  

(B)  Polymerases  

(C)  Topoisomerases 

(D)  Ligases 

23. The process of joining together of the 

vector molecule and desired DNA 

molecule is called as : 

(A) Ligation  

(B)  Methylation  

(C)  Splicing  

(D)  None of the above  

24. Which one of the following increase  

the uptake of DNA molecule by E. coli 

cells ? 

(A) 
4

N H C l   

(B)  
2

C aC l   

(C)  
4

N H O H   

(D)  NaOH 

25. Which one of the following is known as 

nature’s smallest genetic engineer ? 

(A) Yeast 

(B)  Agrobacterium tumefaciens  

(C)  E. coli 

(D)  Viruses  

26. Crown gall disease in many species of 

dicotyledonous plants is caused by : 

(A) Agrobacterium rhizogens  

(B)  Neurospora crassa 

(C)  Agrobacterium tumefaciens  

(D)  Saccharomyces cerevisiae  
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27. Ti plasmid is found in : 

(A) Agrobacterium tumefaciens  

(B)  Escherichia coli  

(C)  Bacillus globigii  

(D)  Proteus vulgaris  

28. Which of the following is an example of 

DNA virus ? 

(A) TMV 

(B)  Caulimovirus  

(C)  Leaf curl virus  

(D)  Pepper mild mottle virus  

29. In cDNA ‘c’ stands for : 

(A) Circular DNA 

(B)  Complete DNA 

(C)  Complementary DNA 

(D)  Complex DNA 

30. To locate exact position of a cloned gene 

within a recombinant DNA molecule is 

achieved by : 

(A) Western blotting  

(B)  Northern blotting  

(C)  Southern blotting  

(D)  None of the above  

31. The chain termination method of DNA 

sequencing was given by : 

(A) F. Sanger and A. R. Coulson  

(B)  A. Maxam and W. Gilbert 

(C)  Messelson and Stahl  

(D)  Watson and Crick  

32. Usually the denaturation temperature is : 

(A) 90°C 

(B)  100°C 

(C)  94°C 

(D)  110°C 

33. In Bt cotton, Bt is related to : 

(A) Fungi  

(B)  Bacteria  

(C)  Virus  

(D)  Nematodes  

34. By using antisense RNA technology in 

tomato, slows down the process of : 

(A) Flowering in plant  

(B)  Photosynthesis  

(C)  Fruit ripening  

(D)  Respiration  
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35. Plant Biotechnology involves : 

(A) Production of valuable products in 

plants  

(B)  Rapid clonal multiplication  

(C)  Production of virus free plants  

(D)  All of the above  

36. The most common solidifying agent used 

in micropropagation is : 

(A) Dextran  

(B)  Agar  

(C)  Mannon  

(D)  Sorbitol  

37. Culturing cells in agited liquid medium is 

called : 

(A) Liquid culture  

(B)  Agar culture  

(C)  Suspension culture  

(D)  None of the above  

38. Generally virus free plants can be 

obtained through : 

(A) Embryo culture  

(B)  Ovule culture  

(C)  Anther culture  

(D)  Meristem culture  

39. Variation found in in vitro cultured tissue 

is called as : 

(A) Gametoclonal variation  

(B)  Somaclonal variation  

(C)  Environmental variation  

(D)  None of the above  

40. Haploid plants are produced by : 

(A) Meristem culture  

(B)  Nucellus culture  

(C)  Embryo culture  

(D)  Anther culture  
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41. A plant cell without cell wall is known  

as : 

(A) Protoplast  

(B)  Protoplasm  

(C)  Tonoplast  

(D)  Cytoplast 

42. Genome of an organism refers to its  

total : 

(A) Number of genes  

(B)  Haploid DNA 

(C)  Number of proteins  

(D)  Number of chromosomes  

43. High cytokinin and low auxin are used in 

combination for the culture of : 

(A) Shoot 

(B)  Root 

(C)  Nodule  

(D)  Organ  

44. Which of the following is most effective 

cytokinin used in shoot tip or meristem 

culture ? 

(A) NAA 

(B)  Zeatin  

(C)  2, 4-D 

(D)  BAP 

45. Small excised portion used for the 

production of mass of cells is known as : 

(A) Callus  

(B)  Explant  

(C)  Fragments  

(D)  None of the above  

46. Who coined the term plasmid ? 

(A) Herbert Boyer  

(B)  Lederberg  

(C)  Stanley  

(D)  Bentham  
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47. The production of adventitious roots and 

shoots from cells of tissue culture is 

termed as : 

(A) Suspension culture  

(B)  Micropropagation  

(C)  Callus culture  

(D)  Organogenesis  

48. Protoplast without nucleus is known as : 

(A) Cytoplast 

(B)  Sub-protoplast 

(C)  Protoplasm  

(D)  None of the above  

49. Post-fertilization barriers can be 

overcome by : 

(A) Endosperm culture 

(B)  Ovary culture 

(C)  Ovule culture 

(D)  All of the above  

50. Explant is sterilized by : 

(A) Dry heat  

(B)  Flame sterilization  

(C)  Autoclaving  

(D)  Mercuric chloride  

51. A short price of radioactive labelled 

single stranded DNA is called as : 

(A) Probe 

(B)  Clone 

(C)  Vector  

(D)  rDNA 

52. Introduction of rDNA into host cell is 

called as : 

(A) Transcription  

(B)  Transformation  

(C)  Recombination  

(D)  Transcription  

53. DNA fragments of different sizes is 

separated by : 

(A) Spectrophotometry  

(B)  Gel electrophoresis  

(C)  Nanodrop method  

(D)  Gene cloning  

54. Process of removal of tumour inducing 

gene from T-DNA of Ti-plasmid is called 

as : 

(A) Disarming  

(B)  Splicing  

(C)  Gene silencing  

(D)  None of the above  
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55. Which of the following attracts 

Agrobacterium tumefaciens for injection 

in dictoyledonous plants ? 

(A) Methyl-digitokin  

(B)  Anthyocyanin  

(C)  Acetosyringone  

(D)  Flavonoids  

56. Which of the following is an indirect 

method of gene transfer ? 

(A) Electroporation method  

(B)  Micro-injection method  

(C)  Particle gun method  

(D)  Agrobacterium mediated gene 

transfer   

57. Molecular markers are based on : 

(A) DNA 

(B)  RNA 

(C)  Proteins  

(D)  Amino acids  

 

 

58. The first molecular marker developed : 

(A) AFLP 

(B)  RFLP 

(C)  RAPD 

(D)  SNP 

59. Molecular markers are used for : 

(A) Linkage mapping  

(B)  Marker assisted selection  

(C)  QTL linkage mapping  

(D)  All of the above  

60. Marker aided selection is also known  

as : 

(A) Marker assisted selection 

(B)  Mass selection 

(C)  Pure line selection 

(D)  None of the above  

 
 
 
 
 
 
 
 
 
 
 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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